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Casel | Case2 | Case3 | Case4 | Case5 | Case6
1.5m o.sd
> 35 | 48 [ 3.5 [ 6.3 2.9 [ 3.5
Sa 15
OK
oc 46 | 7.6 | 4.6 9.3 | 4.1 | 5.8
oca | 10.0 [12.0 [10.0 [ 19.2 | 12.0 | 19.2
OK
os 145.6 | 349.9 | 158.6 457 201.4 299
osa |200.0 [240.0 [200.0 |300.0 |240.0 |300.0
0K NG 0K NG 0K OK
€] 0.55 0.67 0.55 0.91 0.54 0.75
Ba 6 12 6 12 12 12
1/1000 OK
Casel Do+ o+ + + )
Case2,Case5: + + (W.L) Case3: + + + o+ (H-w.L)
Case4,Case6: + ( )+ + w.L)
P
Casel | Case2 | Case3 | Case4 | Case5 | Case6
5m 9m
4.2 10.4 3.8 3.7
2 1.2 1.2 2 1.2 1.2
0K NG NG 0K 0K 0K
10.6 24.3 6 10.5
2 1.2 1.2 2 1.2 1.2
0K NG NG 0K 0K OK
<] 3.6
Oa 12 12
1/1000 NG 0K
Casel,Case4: + o+ + o+
Case2,Case5: + () o+ w.L)
Case3,Case6: + () + w.L)
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(Hz) K (H2) K (Hz)
H115.17 10.5 2.29]
H13.5.7| 11.6] 2.53] 458
H18.8.31 9.2 2.01 5.5 1.2
H19.3.30| 11.4] 249
(Hz) K (Hz) K (Hz)
H11.5.17| 11.5] 2.93 11.5] 2.93]
H13.5.7| 11.2] 2.86) 302
H18.8.31] 8.7 2.22] 5.9 1.51]
H19.3.30 10 2.55]
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